Dixon11/8" (7 7/8"x7 7/8")

=)

,u___ug_i_____u_iauw
Ol

201016

._A
d Log Structures

Do-It-Yourself Building Kits




Dixon11/8" (77/8"x77/8") mpregnated oundation beams

AAark\ Type \ Profile \Count\Length

Foundation

IFB1 |IFB 2 75

40X70 [*

3/16"

-2

201016




Dixon11/8" (7 7/8"x7 7/8")

Floor Plan

v269/16 , 337/16 v269/16 ,

1 7 7 K
11/8" 76 9/16" 11/8"

. Va4 W v
315/16"— ﬁﬂ\315/16”

201016




Dixon11/8" (7 7/8"x7 7/8") mal’

Cut

Wall1 Mark | Profile | Count | Length

1BL-1 | 28x57 26 9/16"
1LG-1 |28x114 26 9/16"
1LG-2%|28x114 511/16"
1LG-3 |28x114 86 5/8"
1LG-4%|28x114 8615/8"

* Gable - delivered premounted

Log Profile Wall 1
Profile \ Profile

i

28X57

26 9/16 ) 337/16 , 26 9/16

201016




Dixon11/8" (7 7/8"x7 7/8") el

Cut

Wall 2 Mark | Profile | Count | Length

2BL-1 |28x57 86 5/8"
2LG-1%|28x114 511/16"
21LG-2 |28x114 |18 86 5/8"
2LG-3% 28x114 865/8"

* Gable - delivered premounted

Log Profile Wall 2
Profile \ Profile

i

28X57

201016




Dixon11/8" (7 7/8"x7 7/8")

Wall A

Log Profile Wall A

ALG-2

Profile \ Profile

ALG-2

ALG-2

ALG-2

ALG-2

ALG-2

ALG-2

315/16"
315/16" 281/8"

vy v

305/16"

281/8"

28x114

A7

201016




Dixon11/8" (7 7/8"x7 7/8")

Wall B

Log Profile Wall B

Profile \ Profile

28x114

201016




Profile \Count \ Length

I\/\ark\ Type \

00
~
M~
N~
X
CcO
~
M~
I=
00
~
-
O
e
O




Dixon11/8" (7 7/8"x7 7/8") Fascia Schedule

I\/\ark\ Type \ Profile \Count \ Length

EE  |Eave Edging 4 49
@ Facia 18X40 7/16

EE

RB Roof Fascia
18X120

Roofing
felt

RR1

RR2 Roof
reinforcement

RF 18X95

Roof
reinforcement
38x38

@ Roof Reinforcement

EE \_
Roof ing |
sheet

[

RR1 — ||

201016




Dixon11/8" (7 7/8"x7 7/8")

Extras
[

Door Schedule Window Schedule

Mark \ Type \Width \ Height\Count Mark \ Type \ Wdth \Height \Count

BD3R |Basicdoor3 (33 76 BW1R |Basic 301/8" 139"
right 1/16"  |15/16" window 1
right

DCB6 |Door

Crossbar 6 Windows

Crossbar 6

Fasteners & Extras

Name Type

Hitblock |1113/16"-153/4"
Screws  3/16"x23/4"

Bolts Ms5/16" x 2 3/8" Type | Count | Length |
Screws  [1/4"x51/2" \ Family \ Count \

Screws  {3/16" x19/16" <> Windboard 865/8"

Screws  [3/16" x 2" \ Romb \2 18X40

201016




Dixon11/8" (7 7/8"x7 7/8")

List of all items 1

Impregnated foundation beams Fascia Schedule

AAark\ Type \ Profile \Count\Length AAark\ Type \ Profile \Count\Length

IFB1 |IFB 2 75 EE Eave Edging 4 49
40X70 3/16" 18X40 7/16"

Roof Fascia
18X120

Roof
reinforcement
18X95

Roof

AAark\ Type \ Profile \Count\Length

RFR |Ridge 1 94.1/2" Roof
40X120 reinforcement

38x38

17X114




Dixon11/8" (7 7/8"x7 7/8")

List of all items 2

Wall A

Profile | Count

28x114 18

28x114 |8

28x114 |1

28x114 |1

Wall 2

Mark

Profile

Count

Cut
Length

2BL-1

28X57

865/8"

2LG-1¥

28x114

511/16"

2LG-2

28x114

18

865/8"

2LG-3"

28x114

865/8"

* Gable - delivered premounted

Wall B

Profile

Count

28x114

17

28x114

28x114

Log Profiles

Profile \

Profile

i

Log Profiles

Profile

Profile




	Sheets
	1 - Titlesheet

	Sheets
	2 - Foundation

	Sheets
	3 - Floor Plan

	Sheets
	1 - Wall 1

	Sheets
	2 - Wall 2

	Sheets
	A - Wall A

	Sheets
	B - Wall B

	Sheets
	8 - Roof 1

	Sheets
	9 - Roof 2

	Sheets
	10 - Extras

	Sheets
	11 - List of all items 1

	Sheets
	12 - List of all items 2


